P 2L d https://lwww.pass2lead.com/5v0-23-20.html
ass ea 2024 Latest pass2lead 5V0-23.20 PDF and VCE dumps Download
https://Pass2Lead.com

5V0-23.2004As

VMware vSphere with Tanzu Specialist

Pass VMware 5V0-23.20 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass2lead.com/5v0-23-20.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by VMware
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

5V0-23.20 Practice Test | 5V0-23.20 Study Guide | 5V0-23.20 Exam Questions 1/3


https://www.pass2lead.com/5v0-23-20.html
https://www.pass2lead.com/5v0-23-20.html
https://www.pass2lead.com/5v0-23-20.html

P 2L d https://lwww.pass2lead.com/5v0-23-20.html
aSS ea 2024 Latest pass2lead 5V0-23.20 PDF and VCE dumps Download

—— https://Pass2Lead.com

QUESTION 1

Which statement describes a characteristic of Supervisor Cluster control plane VMs?
A. Manage the lifecycle of ESXi hosts

B. Are manually created by a vSphere administrator

C. Host developer workloads

D. Run system and infrastructure pods

Correct Answer: B

QUESTION 2

The creation of which object by an administrator in the vSphere client automatically results in thecreation
of a new segment within NSX-T?

A. Service

B. Pod

C. Network policy

D. Namespace

Correct Answer: C

QUESTION 3

Why would developers choose to deploy an application as a vSphere Pod instead of a Tanzu Kubernetes cluster?
A. They need the application to run as privileged pods.

B. The application works with sensitive customer data, and they want strong resource and security isolation.

C. They want to have root level access to the control plane and worker nodes in the Kubernetes cluster.

D. The application requires a version of Kubernetes that is above the version running on the supervisor cluster.

Correct Answer: B

QUESTION 4
Which open-source project extends the Docker registry source code to provide an enterprise-class registry server?

A. Namespace
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B. Manifest
C. Harbor
D. Github

Correct Answer: C

QUESTION 5

A vSphere administrator is required to provide a developer with read/write permissions on a vSphere Namespace.
A. Itis a Kubernetes cluster deployed by developers using a YAML specification file.

B. It aggregates hosts across vSphere clusters to form a Kubernetes cluster on vSphere.

C. It enables vSphere High Availability and Distributed Resource Scheduler.

D. It exposes a Kubernetes API for use by DevOps teams.

Correct Answer: B
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